Swift array



FEMESERNZBEORABEE  BEERFEEL > B8
PS{ERswift i F BEYIG#ETFE - E5TEAlayersfyF H &
5 > MGV IR N B E A FES - FeRfESI{ERHAYE
RERTS > [String] - ZEEFIRTE > ]

import UIK1it




FHREFEEFEZEFE > MBSEFENEREMUA—
* - (EAMNEE += > AJAAS—EFEFEFIHINE B —
EFEES 2% - BERLHMESE > i§FHFES >
["input"] > H3INTEFEfEFlayers

import UIK1it

var layers: [String] = []

print(layers)



FEHEESIth R LA{EHappend( )AE ° MIINYSEFSE - (E
FHEF > 5o FRESIEERE > BE .append( ) > TiAFFTE
MmN FEEEREEKA - FERLA K ERFE
"input" > [¥IN7Elayers= & [HE51 R

import UIK1it

var layers: [String] = []

print(layers)



ZERMEERE > SWMARE > REBE > RELE - 55(F
AWMES+=> ME—1F5< > i&"input", "hidden",
"output"FF &M MNTEFEFETlayersh

import UIK1it

var layers: [String]l = []

5 print(layers)



{FFremovelLast/ % » RIS FEEIIFHNFRE—EF
Ei2kF - ZBE FTFEHEMEYRHE > BE L.removelast() -
BN e AS 2 F B85 E 12 —EF E 12 0%

import UIK1it

var layers: [String] = []
layers += ["input","hidden", "output"]

s

print(layers)



B i (& B= ek fE = A BI A E FE el /B RU AR 4S8 4 B » TSR
EBIEMHEEL - S5 SiESlayersiIFHFET > MASHIIE
NEBRESES > "input" > "hidden1" > "hidden2"& =
& > FEfES

import UIK1it

3

print(layers)




{fAHappend() 5% > i§F & "output" » MiINTEFSEFES
layers Z 12

1 1mport UIKit

[ul—

2 var layers = ["input","hiddenl","hidden2"]

«

5 print(layers)




FHREINPFHE1EFENRSIER  ES—EESD
fisrtLayerf)F 28 » I ENVIIGFHRESHFHET]
layers I HY 58— & °F &

1 import UIKit

var deepNN = ["input", "hiddenl", "hidden2", "output"]

print(firstlLayer)



=—EESmyArrayBIE 2 [FET » WASHIGADERE S
’“IE?IJ

1 1mport UIKi1it

[u—




{£Fappend75i% » 1§ HOMIMNTEMYyArray Zi&

import UIK1it

var miArrai = [Int]()

print(myArray)

l
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A
5



(FRESEEIEE > 1...100 > A A5 E 5% 6 B P AY100E E
2 - (FAMINESE+= > SmyArrayBIEGERASIERSE S
OZ100RFF B 2

1 import UIKit

var myArray = [Int]()
myArray.append(0)

print(myArray)



Hiﬁcount_ﬂ«‘l*'l'ﬁilﬁyﬂﬁﬁiﬂlﬂE’]E?Jlﬁlﬁﬁl (FHRTE
THRESIEE » BE F.count - 35{FA%Z A A1 myArray
HI7T = B2

import UIK1it

var myArray = [Int]()
myArray. append(@)
myArray += 1...100

¢ rin:



(EAfor{§ L P ZE—52deepNNF IR EFE » ETEE
EHE - I8V L > ScBfor, IEEEIEESayer » FR1EE
in deepNN - ZEEESR > JZ—AFEIPHIFHELA
layers > E1TEH - NEIEE[EIIdeepNNPEZBEESF
&5 » "conv”

1 import UIKit

var deepNN = ["input","conv","hiddenl","hidden2", "output"]
let conv = "conv"
I <
1f layer == conv {
print( "This is a Convolution Neural Network")

}



B iEremove(at: Int)rIAS4FEAL B RITTEREES P F2ER -
EGVEHZAIE > 1§’hidden2” > {itdeepNNAFZ[F

import UIK1it

var deepNN = ["input","conv","hiddenl","hidden2", "output"]

.

print (deepNN)



